ka4 #H20l FILE— B ETHERS

HAE  1HH SFISEL0H1HH) 2HH 10H8H(H)
LES®  [ERAMKE] 8E59%5 ES g 108212y [BAAEFM IRR224  [ohrRER)
1 F— L4 123|456 7|8]9]10]3zf ik
ERTI7ZEIZA LR 0| 0| 7] 2 10 [fF 78— LR
SWING ¥ TOP 0 0 0 1 1
By TE HAT—E 12 EFEX 222 EHMER 8 BAHEHE =2F IEHMER s KEEXE
B £m ORHI = — AHE#FE
B #®% @KHER — FE W
Gem) A2 BARTZ =847 ——— -8 ERAERE ABEE
(%) KB ——— =841 RIGEH -8y ——=
1@ RAME 9EF 004 ES g 1085282y [RAAERM]  IESRI28sy  [ePTRERH)
2 F— L4 123|456 7|8]9]10]3z ik
VA VAVY 211 7 10
BEVTFIL 218 2| X 12 |FEH = — N
Y FXE EFRAEBE 12 hMEE 22 FTREM 2 HIIEE 2' FEHEN =88 AHE B
B f£n @FHREK — KRz
B #x ORFRIX — BYIEH
% A2 KRTHEQ =Bi7 HAEH -8By KRTiE MREZ BHEBEX
(%) HEIT ——— =841 ——— BT ———
2 [ [FAABRAA] 118255 RE#T] 120465y AR 1215 [ iz ]
3 F— L4 123|456 78] 9]10]3z %
EEIFZEIVZA/LR| 0| 0| 1 [ 0] 0] 0 1
\WHBEESST olof[ 1] 1]1]0 3 | Tl — LN
# ox®E IUESE 12 EA B 22 HKAXE 2 BB F EFEX 288 KEEXE
B-# x£x ORAN) = — KA
#-# wx ONFEH —~ BBAA
e AT AT =8 ——— —B ———
(BB A8 ——— =B ——— —By EMER
2EE OB ESS g ESALN (e e )
4 F— L4 123456 7|8]9]10]3z %
Ly57 7
() TSAEITITIL 0 |FEHE
ETRES 12 28 32 BIE w5a
K- %X —
K- %X —
%) AR ——— =84 ——— -8 ———
(%) F8IT ——— =81 ——— BT ———
2EE [RABIRA] 1005524 [RAKT) 12135y [RORER] U214y (e
5 F— 24 123456 7|8]09]10]3z ik
IHFR/8—k 0 0 0 0 2 2
FIIBEEBEIEXIST 1| 21]0]0(3x 7 |RpEY=E— VN
By FE EHERE— 12 REMFEM 22 FIIEEHE 2 ErT A #E HFEALE =8 AHE B
B £x OxH K — B RRI#
B #®x OFIIEE —i B
%) ABIT ——— =87 A ER -84 PRRE
(830 A4 LT KE =BT ——— =247 Il BE dIIE®B
2EE [RGB 1213545 [RAKRT) 1305544y [RAAWEM] IRERII9%y  [PTRERT]
6 F— L4 123456 78] 9]10]3z %5
BANBARAH X 0 0 1 0 0 2 3
BEVTFIL ol 221 3]|0]3x 10 [T — R
By FE AR 12 HP—E 222 EBHER 32 EFEREM ' EHE— =88 AHE B
B tx OFE—t HEF - — BMESA
B %% ORERIX — BU&ER

CEB) ABIT ———

=24 iAkTE

-2y HiRTE kB B

(&Y% A2 ———

=8y ———

B ———




AR (RE B 4n] 8IF585) FRAEHET] 105165 (R BT 1HFFR18%) [ it ]

7 F— 214 123456 7|8 9]|10]z 5%
Ly>7 0 0 0 3 1 4
(LB B8ESST 31o10] 2| X 15 | REa— R
By FE FEMBKX 12 FEHEM 2282 MNLiE 2 LEAT #F FEHE— =88 AHE B
B % @RIFEHA — dtH K
- #m OXF FE FHEHM™ — EEAX
%) AR ——— =847 ——— =81 IMKEZ
(BB KB ——— =841 TREFQ EMZEH —=247 WAMYE EMEF BR =
ERB AABHM)  108E38sy  [RAAWET]  11MEs9sy  BAAWERY 1EMI21S [RTRERD
8 F— 214 123456 7|8 9]10]%z 5%
FINBBEIEIST olojlo|1|l2]0]0 3
BEIFIL 3lolojoflo]1]X 4
B EE OLEMEN 12 WEEZ 22 ILEAY 32 FHESh =E FEHEM 2ns K #F
- &% OFIRE —it B’
#—H #x ORBRIX — BYEF
G #x247 FOERE =841 PSR BT ———
(%Y%) ABI ——— =BT ——— -84 R R
R BULoBEsE] 120214 [RAKT] 13874245 [BALAWF]  1BERI215y  [RIRRER)
9 F— 214 123456 78] 9]10]%z 5%
IWHBEEIST 1{oflo]lo|2|1]4 8
BRIV r{fofojlo]|l20fo0 3
¥ TE EHE— 12 FHEBK 222 FEHEM 2 FLifE =E FEEZ 2% AH B
- £x OXRE [ — BAAX
B #n @FERIX — AO¥F
% A2 EEREX =841 THEFE BT ———

(#%) HBIT ——— =847 KEF AKX —g47 AZTN




